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Extreme Value Theorem:

A continuous function on a closed interval achieves its
maximum and minimum on that closed interval.
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Suppose you are 1/4 mile east of a stop sign, walking @ 3 m/h east (away from the sign).

You friend is at the stop sign, heading south at 5 mi/h.

Produce an equation giving the distances to the stop sign at time t, use this to find how fast the distance between you and your
friend is changing 1 hour later.
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Suppose you are 1/4 mile east of a stop sign, walking @ 3 m/h €&8t-(away from the sign).

You friend is at the stop sign, heading south at 5 mi/h.

Produce an equation giving the distances to the stop sign at time t, use this to find how fast the distance between you and your
friend is changing 12 min later.
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